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16. The following data show the starting salaries, in $1000 per year, for a sample of 15
senior engineers:

152 169 178 179 185 188 195 196 198 203 204 209 210 212 214

(a) Assuming that the 15 senior engineers represent a simple random sample from the
population of senior engineers, estimate the population mean and variance.

(b) Give the sample mean and variance for the data on second-year salaries for the same
group of engineers if
(i) if each engineer gets a $5000 raise, and
(i) if each engineer gets a 5% raise.

I. The following is a stem and leaf display of n = 40
solar intensity measurements (integers in watts/m?) on
different days at a location in southern Australia. The
(optional) first column of the stem and leaf plot contains
a leaf count in a cumulative fashion from the top down to
the stem that contains the median and also from the bot-
tom up to the stem that contains the median. The stem
containing the median has its own leaf count, shown in
parentheses. Thus, 18 4+ 4 + 18 equals the sample size.

4 67 3 3 6 7
g8 o8 02 2 8
11 6 01 9
18 70 01477929
4 71 5779
8 72 00 2 3
14 73 01 2 4 45
8 74 013666
2 75 0 8
(a) Obtain the sample median and the 25th and the 75th
percentiles.

(b) Obtain the sample interquartile range.
(c) What sample percentile is the 19th ordered value?



